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Watt - Power Problemsl 
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p = energy converted(J), (kW - br) =V x] =V =]2R V 	 IR 

time(s),(br) 	 R 
Show all work for full credit.: 

1. 	 A microwave draws 15 A when operated on 120 V. 
a) How much power does it use? (1800 V\1 

p-= IV = 15(11.0) = !&OO~I 
b) It takes 15 minutes to cook a meal, how much energy does it use? 

1600w ,~~: O.ZS'he!»:: 0.4S 'f(.vJ- h2S 

c) At $0.080 kWh, what does it cost to cook the meal? 

0 ..'15'(0.06) :. o· 03C. 

2. 	 How much current is supplied by a 240 V generator delivering 120 kW of power (500 A) 

P':.. "I.." ,20000 :. .. 21.1o" ,,': 	 ItO.OCt _ sooA 
-z..c.,o -..----­

3. 	 An electric heater provides 2.0 kW of power when connected to a 120 V potential difference. 
a) What is the current through the heater? ( 16.7 A)

P-::.. '1:.:" 	 V:. ~DO 0 ... \\(...; ~,1.0

1000:. ,2H 

b) How much energy is used, in kW-hr, if the heater is on for five hours? (Watch your units) 
(10 kW-hr) 

-Z "w ·5 " ..5 :. 10"c..-J. he. '!'> 

4. 	 A pocket calculator draws 5.0 x 10-5 A of current when connected to a 9.0 V battery. 
a) What power does this calculator use? (4.5 x 1cr V\1 

p:.1: V -.:. S1. IO-S-(C\) -:. 4-S-V'o'-lW 

b) How much energy, in joules, does the calculator use if it is left on for 20.0 minutes? 
(0.54 J) 
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